THE INDIAN SCHOOL
PRE-BOARD EXAMIN ATION {1{!’14—15]
MATHEMATICS (41)
X
s Mir, ql"pﬂﬂll-'ﬂpn;n: 9

T aliowed: 3 hours Maximum Marks: 80

4 i i AI B, (."r H ﬂ.ﬂd E.
af 38 questions divided into 3 Iﬂ::fmfﬂpff Choice questions,

carrving | mark each incl

General insiruciions:
() This question paper Consises
(M) Section A comprises 20 quesiions
Assertion and Reasoning based questions.
(W) Section B comprises § questions carrying 2 marks each.
{iv) Section C comprises 6 questions carrying 3 marks each
(v) Section D comprises 4 questions carrying 5 marks each. ihe
Section E comprises 3 case study-hased questions of 4 marks each with sub parts of the values of
1, 1 and 2 marks each respectively.
(vil) Al questions are compulsory. However internal choices harve been pmvided in some of the

questions.
M Draw neat figures wherever required.
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SECTION-A 1
Multiple Choice Questions (20 Marks)
Marks
1

' Q No. Question

1 | The LCM of 6* 82 and k is 12* where k is a positive integer. The value of kis
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= mwﬂrﬁ for which the polynomial p(x) = x* +4x + a is a perfect square, is 1
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e ﬁﬂlﬁﬂ]‘ﬁt 10 terms ofﬂ]E AP:a- B, H-‘-Z, 3+4’, ............... is 1

-10a (c) 10a—190
b (d) 10a+180
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i les are of radii 6 cm and 8 cm. The len-gtl'i of the chord of the
-hes the smaller circle is 1
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|| a5 shown In the figure. _
 a flashlight and au::iz:;ir;‘  om the wall and 15 €M

(c) 48 cm
E:;;‘ﬂ: (d) 60 cm "
SR s it ircle, then the central angle

2 mmﬂamahdrde ls%uﬂhe area of that ¢

7
| of the sector is

(©) 110°
(d) 120°

gth of the shadow of a man is% times its height, then the angle of 1.
« (Q 30° \
(d) 60° \
g |
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the angle of depression of a point on the ground is 60", 1f |
t from the foot of the pillar is 16 m, then the height of the | |

()83 m | |
(D 16V3m \ :.
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Je with radius 21 cm, subtending an angle




The coordinates A(7, 10), B(—2.5) and TC3. —4) are the vertices of
(<) an isosceles triangle

’ (a) a right-angled triangie
) (b) an equilateral riangie (d) a scalene triangle

solid
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o ' —— L on (A) is followed by 2
L = l'i'- a-ud 20, a statement of Assertion (
s quﬁuumn nUMH(FRﬁ- oose the correct upﬂT eason (R) 18 the correct
e {n,.u] and reason {(R) are true an r »
Both assertion . o
(a) explanation ufiﬂ’ﬁ:ﬁn (R) are true but reason (R) is not
Both assertion (A) an
iy explanation of assertion (A) S
/ ction (A) is true but reason (R) 18 :
{g:::rﬁnn (A) is false but reason (R) is true. o d
: =[:+1}cm,DB=(:+1}:man

- = 2cm, AE
o R AABC, i DE || BC.AD = 2cm,
|I -“I ““.NH“::# 2 mth:“ xe= 5 \

| Reason (R): Ifa line is drawn parallel to one side of a triangle to intersect the

g 1 " other two sides at distinct points, the other two sides are divided in
i 4 the same ratio. ¢
- =

. 1
: n(A): The mid-point of a line segment divides the line segment in the \ 1 II
. ratiol:1. | |
jon (R): The ratio in which the point (-3, k) divides the line segment joining |

" thepoints (~5,4) and (~2,3) is 1:2.

SECTION-B '.
(10 Marks) -,
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pnal number, given that V3 is an irrational number. 2

: Jomi p{x}=xl+ Px-}- q.t.hE“ forma 2
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| = 19, then find the

Value of (5y - Zx)and (2 2)
R :

If the system of linear €quations 2x + 3y =

/and 2ax + (a + )y = 28 have an
| infinite number of solutions, then find

the values of 3 and b

—

The Red queen and the black Jack
card is drawn at random from the
probability that the drawn card is

are removed from a pack of 52 playing cards. A 2

remaining cards, alter reshuffling them. Find the

() a face card (i) & non red card

1
=

P — — = - — — — - 1
If the perimeter of the quadrant of a dirdle is 16.5 cm, then find the radius of the circle
OR

A pendulum swings through an angle of 60° and describes an arc of 15.4 cm in length. |
Find the length of the pendulum. - '. \
SECTION-C 2
(12 Marks) e |
| ' | Marks |
h Q No. (Juestion b
o i them is
hat the difference between
: 4-digit numbers such t
: Find the smallest pair of
= 303 and their HCF is 101.

(—1,4) and (=2,—1)are

‘ 27 | Find the area of a rhombus if its vertices (3, 0), (4, 5).

taken in order. OR

d B(5, —8) such that
Point P divides segment joining the points A(2,1)an
ey e i then find the value of k

.g-i‘lﬂ’ﬂuanth&“nﬁh EYEE=0

~1,y = 3, and 4x -y = 5. Shade the

' the graphs of the equations y = y-axis. Also, calculate the area of the

teral formed by the lines and the

+ d?) =0 are equal, then

(e*
M . (a?+b?)x* - 2(ac + bd)x +

| ,'-__-ﬁ-

o

g ot - ground of a house on a street, .
i he foor o  amp pos onthe opposie side of the
selv. Find the height of the lamp post.




gla |-|||.'|.'\.- an

|1|.1Il'

o R wi | s |.|u'| in |
J il
s () et g U II. st ey 3
‘ i
|'||| & ” l 111 ‘lhllr
e i gl L) ATV 1Akl ||Il 1”; t':.-\-. ,I-”,_”...ll ”“.1"11“ |
e - '. Pyt ATEE |
134 n...'-.'.l.!.','.-. { e ”“”h”;‘“u“.” 4 IP—I” el g | | - |
‘ll LR |
ol : the ! jreles W 0 '-,.“: :l.enhmj the
sarits 1 1 : |
pend (0 1-"1:-:“"' g o= ko and FG= |
Sven gLt ; - |
: mie s y e LHCM Q |
i‘-1lt'1'll.\'r|.'. .
Lﬂm: ol Al + n I
I 1
|
ﬁ |
\ 1
| |
: |
SECTION-D =
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52 (i) Prowve that lf""_n T —| {!""--ﬁ] — (i :um;‘-', 1'__—2{—-—-—"'1" | |
I |
| . g & ﬁ- A e 1 = ﬂ. III
1' J{ul that 2[(sind)® + (cosA)*]— 3[(cosA)* + (sinA) ] - & e
— - 2 g 5
to mrum-:crlhr a Ell'l.':tll'." of radius 4 cm such that the \

ABC iz drnw'n g
= Jr . mamfr nc of lengths 10 cm and 8 cm respec ctively. Find the lengths © \

¢ B and CD are r
the sides ABand AC, if the area of the triangle ABC is 90 cme.

A 1

B“—J0em D B8om ¢ \

OR *.

I:Ih!the sides of a right-angled triangle, right angled at C, where c is the
M prove that the radius r of the circle which touches the sides of

a+b-c
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36 | Case Study \ A \
throw of Is tl"l-"ll'l'flh:fl"llll record holder for women in the shot pul discipline et |
18.86 m at the Asian grand Prix in 2017 is the bigges! distance for an \
Indian female athlete. Keeping her as @ role model, 5and hita is Aetermined to earn
ne day. Initially her throw 1 cal hed 7.56 m only
mornings and inthe \

' the gold In the Olympics
_ -“_ an athlete at school, she regularly pr

and was able to improve her distance by 9 cm pvery we
she started with 40 throws and every day kept b

of throws by 12 to achleve remarkable progress

acticed both in the
ol During a

m;rul\nl




following questions

1 day of the cam p?

Based on the above jnformation, answer the

(i) How many throws did Sanchita practice on the 1

(ii) How many throws did she do durin
d be Sanchita’s throw distance
OR

(iii) When will she be able to achieve a throw of11.16 m?

g the entire camp of 15 days’

at theend ot 6 weeks?

(iii) What shoul

37 | Case Study
TP# legs ofan i

ron table form two triangles as shown in the picture.

on the above information, answer the following questions

ﬂi#ﬁﬂﬂmngruent? If yes, then name the congruency criterion. If
fy your answer.

i@m- OC = x 45 and 0D = 15 cm, then find thex alue of

COD are similar. Name the similarity criterion

L ||
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d the ratio of the perimeter of
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Case Study

velocity
A golf ball is spherical with about 300-500 dimples that help increase its

: 2L s also. In the
while in play. Golf balls are traditionally white but available in colour g

: e 315 dimp
given figure, a golf ball has a diameter of 4.2 cm and its surface has
(hemispherical) of radius 2 mm.

or bove information, answer the following questions.
ace area of one dimple.

volume of the material dug out to make one dimple.
al '-i'_'?j'n.i:" ce a ea exposed to the surroundings.

- OR
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